

City of Kettering Bid Tabulation

05-122 Sidewalk, Curb and Drive Approach Repair 2022

5212-77750 SWR, 5218-77750, 5228-77750, 6100-77750 State Farm

Description

PO#

Bid Summary

Engineer's Estimate	\$1,214,000.00	Displayed
(1) Fillmore Construction	\$1,327,694.50	Displayed
(2) Adleta, Inc.	\$1,334,380.15	Displayed
(3) RA Miller Construction Co. Inc.	\$1,391,662.75	Displayed

Bid Tabulations

Line Number	Item ID	Unit	Quantity	Engineer's	Estimate	(1) Fillmore C	Construction	(2) Adl	eta, Inc.	
Line Number	Item ID	Oilit	Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension	
Section: 1 - Conc	Section: 1 - Concrete Work									
0010	201-1101	EACH	9.000	\$1,200.000	\$10,800.00	\$1,000.000	\$9,000.00	\$1,575.000	\$14,175.00	
TREE & STUMP	REMOVAL, 1	2"-23", AS PER I	PLAN							
0020	201-1201	EACH	11.000	\$1,600.000	\$17,600.00	\$1,500.000	\$16,500.00	\$2,225.000	\$24,475.00	
TREE & STUMP	REMOVAL, 2	4"-35", AS PER I	PLAN							
0030	201-1301	EACH	5.000	\$1,800.000	\$9,000.00	\$3,500.000	\$17,500.00	\$3,275.000	\$16,375.00	
TREE & STUMP	REMOVAL, 3	6" AND GREAT	ER, AS PER PLAN							
0040	201-1501	EACH	2.000	\$400.000	\$800.00	\$1,000.000	\$2,000.00	\$787.500	\$1,575.00	
STUMP REMOV	AL, AS PER P	LAN								
0050	202-2000	FOOT	6,370.000	\$11.500	\$73,255.00	\$8.000	\$50,960.00	\$10.000	\$63,700.00	
CONCRETE CUI	RB REMOVED)								
0060	202-3024	SF	38,453.000	\$3.750	\$144,198.75	\$2.000	\$76,906.00	\$2.720	\$104,592.16	
CONCRETE FLA	ATWORK REM	MOVED (12" & U.	NDER)							
0070	605B-1030	FOOT	200.000	\$20.000	\$4,000.00	\$50.000	\$10,000.00	\$15.490	\$3,098.00	
3" DRAIN TILE,	SCHEDULE 4	0 PVC								
0080	608A-1000	SF	23,213.000	\$7.500	\$174,097.50	\$6.500	\$150,884.50	\$8.050	\$186,864.65	
4" CONCRETE S	SIDEWALK									
0090	608A-2000	SF	2,300.000	\$8.500	\$19,550.00	\$10.000	\$23,000.00	\$8.230	\$18,929.00	
6" CONCRETE S	SIDEWALK									
0100	608A-2060	SF	10,540.000	\$8.500	\$89,590.00	\$12.000	\$126,480.00	\$8.850	\$93,279.00	
6" CONCRETE I	ORIVE APPRO	ACH								

Bid Tabulations:

02/14/2022

05-122 Sidewalk, Curb and Drive Approach Repair 2022

0110 600 6" CONCRETE CURE		J nit	Quantity	Unit Price					
6" CONCRETE CURE	8A-3001 S			Unitifice	Extension	Unit Price	Extension	Unit Price	Extension
		SF	2,400.000	\$12.500	\$30,000.00	\$20.000	\$48,000.00	\$14.970	\$35,928.00
0120 603	B RAMP, AS P	PER PLAN							
	8A-3082 S	SF	446.000	\$35.000	\$15,610.00	\$28.000	\$12,488.00	\$19.010	\$8,478.46
DETECTABLE WAR	NING								
0130 608	8B-1401 S	SF	500.000	\$10.000	\$5,000.00	\$20.000	\$10,000.00	\$10.580	\$5,290.00
ASPHALT DRIVEWA	AY (449), AS F	PER PLAN							
0140 609	9-1000 F	FOOT	6,370.000	\$32.000	\$203,840.00	\$50.000	\$318,500.00	\$29.390	\$187,214.30
CONCRETE CURB A	ND GUTTER,	, IN-KIND							
0150 614	4-1001 L	LUMP SUM	1.000	\$23,256.750	\$23,256.75	\$17,500.000	\$17,500.00	\$9,500.000	\$9,500.00
MAINTAINING TRA	FFIC, AS PER	PLAN							
0160 91:	5-1203 S	SF	500.000	\$3.000	\$1,500.00	\$5.000	\$2,500.00	\$3.720	\$1,860.00
EXCESS COST OF H	IGH-EARLY-S	STRENGTH CEMEN	T (MEDIUM SET	Ր), 4"-6" CONCRI	ETE FLAT WOR	K, AS PER PLAN			
0170 91:	5-1302 F	FOOT	100.000	\$5.000	\$500.00	\$30.000	\$3,000.00	\$12.390	\$1,239.00
EXCESS COST OF H	IGH-EARLY-S	STRENGTH CEMEN	T (MEDIUM-SE	Γ), CONCRETE (CURB, AS PER P	LAN			
17 items		S	ection Totals:		\$822,598.00		\$895,218.50		\$776,572.57
Section: 2 - Resurfaci	ing								
0180 254	4-1601 S	SY	36,136.000	\$1.500	\$54,204.00	\$2.000	\$72,272.00	\$3.050	\$110,214.80
PAVEMENT PLANIN	NG, ASPHALT	CONCRETE, VARIA	ABLE DEPTH, A	S PER PLAN					
0190 40	7-2000	GAL	4,558.000	\$2.000	\$9,116.00	\$2.500	\$11,395.00	\$1.050	\$4,785.90
NON-TRACKING TA	CK COAT								
0200 44	1-1000 Т	TON	551.000	\$79.000	\$43,529.00	\$79.000	\$43,529.00	\$98.700	\$54,383.70

Bid Tabulations:

02/14/2022

I : N	I4 ID	Uni4 04'4		Engineer's	Engineer's Estimate		Construction	(2) Adleta, Inc.	
Line Number	Item ID	Unit	Quantity	Unit Price	Extension	Unit Price	Extension	Unit Price	Extension
0210	441-1100	TON	3,162.000	\$79.000	\$249,798.00	\$80.000	\$252,960.00	\$103.950	\$328,689.90
ASPHALT CON	CRETE SURFA	ACE COURSE, TYP	E 1 (449), PG64-22 (1.5	5")					
0220	611-2810	EACH	15.000	\$400.000	\$6,000.00	\$500.000	\$7,500.00	\$509.250	\$7,638.75
MANHOLE ADJ	USTED TO G	RADE, TYPE 1							
0230	611-2825	EACH	15.000	\$700.000	\$10,500.00	\$1,000.000	\$15,000.00	\$1,029.000	\$15,435.00
MANHOLE ADJ	JUSTED TO GI	RADE, TYPE 2A							
0240	611-2826	EACH	10.000	\$900.000	\$9,000.00	\$1,500.000	\$15,000.00	\$1,454.250	\$14,542.50
MANHOLE ADJ	USTED TO G	RADE, TYPE 2B							
0250	611-2830	EACH	1.000	\$1,400.000	\$1,400.00	\$3,500.000	\$3,500.00	\$3,651.130	\$3,651.13
MANHOLE REP	PAIR								
0260	901-6362	EACH	8.000	\$280.000	\$2,240.00	\$350.000	\$2,800.00	\$472.500	\$3,780.00
WATER VALVE	E ADJUSTED T	TO GRADE, PER M	CES SPECIFICATION	S					
9 items			Section Totals:		\$385,787.00		\$423,956.00		\$543,121.68
Section: 3 - State	e Farm Access								
0270	201-1001	LUMP SUM	1.000	\$500.000	\$500.00	\$2,500.000	\$2,500.00	\$6,857.250	\$6,857.25
CLEARING ANI	D GRUBBING	, INCLUDING TRE	E/STUMP REMOVAL	(<12"), AS PER I	PLAN				
0280	254-1001	SY	51.000	\$25.000	\$1,275.00	\$20.000	\$1,020.00	\$47.250	\$2,409.75
PAVEMENT PL	ANING, ASPH	ALT CONCRETE,	AS PER PLAN						
0290	301-1001	TON	6.000	\$200.000	\$1,200.00	\$500.000	\$3,000.00	\$418.950	\$2,513.70
ASPHALT CON	CRETE BASE	(449), AS PER PLA	N						
0300	304-1001	TON	4.000	\$60.000	\$240.00	\$100.000	\$400.00	\$201.300	\$805.20
AGGREGATE B	ASE, AS PER	PLAN							

Bid Tabulations: 05-122 Sidewalk, Curb and Drive Approach Repair 2022 02/14/2022

Line Number	Item ID	Unit	Quantity	Engineer's E Unit Price	Extension	(1) Fillmore Co	enstruction Extension	(2) Adlet Unit Price	ta, Inc. Extension
0310	441-1101	TON	8.000	\$300.000	\$2,400.00	\$200.000	\$1,600.00	\$262.500	\$2,100.00
ASPHALT CON	ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (449), PG64-22 (1.5"), AS PER PLAN								
5 items			Section Totals:		\$5,615.00		\$8,520.00		\$14,685.90
31 items			Totals:		\$1,214,000.00		\$1,327,694.50	9	\$1,334,380.15

Bid Tabulations (cont'd)

Bid Tabulations:

05-122 Sidewalk, Curb and Drive Approach Repair 2022

Line Number	Item ID	Unit	Quantity	(3) RA Miller Construction Co. In Unit Price	nc. Extension
Section: 1 - Concrete	e Work				
0010	201-1101	EACH	9.000	\$800.000	\$7,200.00
TREE & STUMP RE	EMOVAL, 12"-23", AS P	ER PLAN			
0020	201-1201	EACH	11.000	\$1,000.000	\$11,000.00
TREE & STUMP RE	EMOVAL, 24"-35", AS P	ER PLAN			
0030	201-1301	EACH	5.000	\$1,300.000	\$6,500.00
TREE & STUMP RE	EMOVAL, 36" AND GRI	EATER, AS PER PLA	AN		
0040	201-1501	EACH	2.000	\$200.000	\$400.00
STUMP REMOVAL	, AS PER PLAN				
0050	202-2000	FOOT	6,370.000	\$11.000	\$70,070.00
CONCRETE CURB	REMOVED				
0060	202-3024	SF	38,453.000	\$3.400	\$130,740.20
CONCRETE FLATW	VORK REMOVED (12"	& UNDER)			
0070	605B-1030	FOOT	200.000	\$21.000	\$4,200.00

02/14/2022

Page 5 of 8

Line Number	Item ID	Unit	Quantity	(3) RA Miller Construction Co. Inc. Unit Price	Extension
3" DRAIN TILE, SCI	HEDULE 40 PVC				
0080	608A-1000	SF	23,213.000	\$8.000	\$185,704.00
4" CONCRETE SIDE	EWALK				
0090	608A-2000	SF	2,300.000	\$6.850	\$15,755.00
6" CONCRETE SIDE	EWALK				
0100	608A-2060	SF	10,540.000	\$7.250	\$76,415.00
6" CONCRETE DRIV	VE APPROACH				
0110	608A-3001	SF	2,400.000	\$11.150	\$26,760.00
6" CONCRETE CUR	B RAMP, AS PER PLAN	1			
0120	608A-3082	SF	446.000	\$32.300	\$14,405.80
DETECTABLE WAR	RNING				
0130	608B-1401	SF	500.000	\$14.450	\$7,225.00
ASPHALT DRIVEW	AY (449), AS PER PLAI	N			
0140	609-1000	FOOT	6,370.000	\$36.000	\$229,320.00
CONCRETE CURB A	AND GUTTER, IN-KINI)			
0150	614-1001	LUMP SUM	1.000	\$50,000.000	\$50,000.00
MAINTAINING TRA	AFFIC, AS PER PLAN				
0160	915-1203	SF	500.000	\$0.550	\$275.00
EXCESS COST OF H	HIGH-EARLY-STRENG	TH CEMENT (MEDIUM SET),	4"-6" CONCRETE FLAT WORK, A	AS PER PLAN	
0170	915-1302	FOOT	100.000	\$4.500	\$450.00
EXCESS COST OF H	HIGH-EARLY-STRENG	ГН CEMENT (MEDIUM-SET),	CONCRETE CURB, AS PER PLAN	N	
17 items			Section Totals:		\$836,420.00

05-122 Sidewalk, Curb and Drive Approach Repair 2022

Bid Tabulations:

02/14/2022

Page 6 of 8

Section: 2 - Resurfacing Section: 2 - Resurfacing Section: 2 - Resurfacing Section: 2 - Resurfacing Section: 3 - Section: 3 - State Farm Access State Farm Acces State Farm Access State Farm Acces State Farm Access State F						
10180 254-1601 SY 36,136,000 \$3,000 \$108,408,000 \$108,408,000 \$108,408,000 \$108,408,000 \$109,000 \$407-2000 \$GAL	Line Number	Item ID	Unit	Quantity		Co. Inc. Extension
PAVEMENT PLANING, ASPHALT CONCRETE, VARIABLE DEPTH, AS PER PLAN 0190 407-2000 GAL 4,558.000 \$2.000 \$9,116.000 NON-TRACKING TACK COAT 0200 441-1000 TON 551.000 \$99,000 \$54,549.000 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE I (449), (I") 0210 441-1100 TON 3,162.000 \$105.000 \$332,010.000 ASPHALT CONCRETE SURFACE COURSE, TYPE I (449), PG64-22 (1.5") 0220 611-2810 EACH 15.000 \$500.000 \$7,500.000 MANHOLE ADJUSTED TO GRADE, TYPE I 0230 611-2825 FACH 15.000 \$1,025.000 \$15,375.000 MANHOLE ADJUSTED TO GRADE, TYPE 2A 0240 611-2826 FACH 10.000 \$1,450.000 \$14,500.00 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 0250 611-2830 FACH 1.000 \$1,575.000 \$1,575.000 MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 tems Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000 S800.000 \$800.	Section: 2 - Resurfac	cing				
190	0180	254-1601	SY	36,136.000	\$3.000	\$108,408.0
NON-TRACKING TACK COAT 10200 441-1000 TON 551.000 \$99.000 \$54,549.00 ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE I (449), (1") 10210 441-1100 TON 3,162.000 \$105.000 \$332,010.00 ASPHALT CONCRETE SURFACE COURSE, TYPE I (449), PG64-22 (1.5") 10220 611-2810 FACH 15.000 \$500.000 \$7,500.00 MANHOLE ADJUSTED TO GRADE, TYPE I 10230 611-2825 FACH 15.000 \$1,025.000 \$15,375.00 MANHOLE ADJUSTED TO GRADE, TYPE 2A 10240 611-2826 FACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 10250 611-2830 FACH 1.000 \$1,575.000 \$1,575.000 MANHOLE REPAIR 10260 901-6362 FACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 10 Jumps Section: 3 - State Farm Access 10270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000	PAVEMENT PLANI	NG, ASPHALT CONC	RETE, VARIABLE DEPTH	, AS PER PLAN		
100	0190	407-2000	GAL	4,558.000	\$2.000	\$9,116.0
ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 1 (449), (1") 10210 441-1100 TON 3,162.000 \$105.000 \$332,010.00 ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (449), PG64-22 (1.5") 10220 611-2810 EACH 15.000 \$500.000 \$7,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 1 10230 611-2825 EACH 15.000 \$1,025.000 \$15,375.00 MANHOLE ADJUSTED TO GRADE, TYPE 2A 10240 611-2826 EACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 10250 611-2830 EACH 1.000 \$1,575.000 \$1,575.00 MANHOLE REPAIR 10260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 19 Items Section: 3 - State Farm Access 10270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000 S00.000 \$800.0	NON-TRACKING T	ACK COAT				
0210 441-1100 TON 3,162,000 \$105,000 \$332,010.00 ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (449), PG64-22 (1.5") 0220 611-2810 EACH 15,000 \$500,000 \$7,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 1 0230 611-2825 EACH 15,000 \$1,025,000 \$15,375.00 MANHOLE ADJUSTED TO GRADE, TYPE 2A 0240 611-2826 EACH 10,000 \$1,450,000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 0250 611-2830 EACH 1,000 \$1,575,000 \$1,575.00 MANHOLE REPAIR 0260 901-6362 EACH 8,000 \$470,000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1,000 \$800,000 \$800,000 \$800.00	0200	441-1000	TON	551.000	\$99.000	\$54,549.00
ASPHALT CONCRETE SURFACE COURSE, TYPE 1 (449), PG64-22 (1.5") D220 611-2810 EACH 15.000 \$500.000 \$7,500.000 MANHOLE ADJUSTED TO GRADE, TYPE 1 D230 611-2825 EACH 15.000 \$1,025.000 \$15,375.000 MANHOLE ADJUSTED TO GRADE, TYPE 2A D240 611-2826 EACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B D250 611-2830 EACH 1.000 \$1,575.000 \$1,575.000 MANHOLE REPAIR D260 901-6362 EACH 8.000 \$470.000 \$3,760.000 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS P items Section: 3 - State Farm Access D270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000 S500.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000	ASPHALT CONCRE	ETE INTERMEDIATE	COURSE, TYPE 1 (449), (1"	()		
0220 611-2810 EACH 15.000 \$500.000 \$7,500.000 MANHOLE ADJUSTED TO GRADE, TYPE 1 0230 611-2825 EACH 15.000 \$1,025.000 \$15,375.000 MANHOLE ADJUSTED TO GRADE, TYPE 2A 0240 611-2826 EACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 0250 611-2830 EACH 1.000 \$1,575.000 \$1,575.000 MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.000 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000	0210	441-1100	TON	3,162.000	\$105.000	\$332,010.0
MANHOLE ADJUSTED TO GRADE, TYPE 1 10230 611-2825 EACH 15.000 \$1,025.000 \$15,375.00 MANHOLE ADJUSTED TO GRADE, TYPE 2A 10240 611-2826 EACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 10250 611-2830 EACH 1.000 \$1,575.000 \$1,575.00 MANHOLE REPAIR 10260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 19 items Section: 3 - State Farm Access 10270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000 \$800.000	ASPHALT CONCRE	ETE SURFACE COURS	SE, TYPE 1 (449), PG64-22 ((1.5")		
0230 611-2825 EACH 15.000 \$1,025.000 \$15,375.00 MANHOLE ADJUSTED TO GRADE, TYPE 2A 0240 611-2826 EACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 0250 611-2830 EACH 1.000 \$1,575.000 \$1,575.00 MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section Totals: \$546,793.00 Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000	0220	611-2810	EACH	15.000	\$500.000	\$7,500.0
MANHOLE ADJUSTED TO GRADE, TYPE 2A 0240 611-2826 EACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 0250 611-2830 EACH 1.000 \$1,575.000 \$1,575.00 MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000 \$800.000 \$800.000	MANHOLE ADJUST	ΓED TO GRADE, TYP	E 1			
0240 611-2826 EACH 10.000 \$1,450.000 \$14,500.00 MANHOLE ADJUSTED TO GRADE, TYPE 2B 0250 611-2830 EACH 1.000 \$1,575.000 \$1,575.00 MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.00	0230	611-2825	EACH	15.000	\$1,025.000	\$15,375.00
MANHOLE ADJUSTED TO GRADE, TYPE 2B 0250 611-2830 EACH 1.000 \$1,575.000 \$1,575.00 MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000	MANHOLE ADJUST	ΓED TO GRADE, TYP	E 2A			
0250 611-2830 EACH 1.000 \$1,575.000 \$1,575.000 MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000	0240	611-2826	EACH	10.000	\$1,450.000	\$14,500.0
MANHOLE REPAIR 0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section Totals: \$546,793.00 Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.00	MANHOLE ADJUST	ΓED TO GRADE, TYP	E 2B			
0260 901-6362 EACH 8.000 \$470.000 \$3,760.00 WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section Totals: \$546,793.00 Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000	0250	611-2830	EACH	1.000	\$1,575.000	\$1,575.00
WATER VALVE ADJUSTED TO GRADE, PER MCES SPECIFICATIONS 9 items Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000 \$800.000	MANHOLE REPAIR	2				
Section: 3 - State Farm Access Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.00	0260	901-6362	EACH	8.000	\$470.000	\$3,760.00
Section: 3 - State Farm Access 0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.000	WATER VALVE AD	DJUSTED TO GRADE,	PER MCES SPECIFICATION	DNS		
0270 201-1001 LUMP SUM 1.000 \$800.000 \$800.00	9 items			Section Totals:		\$546,793.00
	Section: 3 - State Fa	rm Access				
d Tabulations:	0270	201-1001	LUMP SUM	1.000	\$800.000	\$800.00
	Rid Tahulations:					02/14/202

Page 7 of 8

05-122 Sidewalk, Curb and Drive Approach Repair 2022

Line Number	Item ID	Unit	Quantity	(3) RA Miller Construction Co	o. Inc. Extension
CLEARING AND G	RUBBING, INCLUDIN	G TREE/STUMP RE	MOVAL (<12"), AS PER PLAN		
0280	254-1001	SY	51.000	\$47.250	\$2,409.75
PAVEMENT PLANI	ING, ASPHALT CONC	RETE, AS PER PLAN	1		
0290	301-1001	TON	6.000	\$500.000	\$3,000.00
ASPHALT CONCRE	ETE BASE (449), AS PE	ER PLAN			
0300	304-1001	TON	4.000	\$30.000	\$120.00
AGGREGATE BASI	E, AS PER PLAN				
0310	441-1101	TON	8.000	\$265.000	\$2,120.00
ASPHALT CONCRE	ETE SURFACE COURS	SE, TYPE 1 (449), PG	64-22 (1.5"), AS PER PLAN		
5 items			Section Totals:		\$8,449.75
31 items			Totals:		\$1,391,662.75